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01 At 2|l 158,600 8,400 150,200
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150,000,000 * 14! 150,000
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203 HR=H] 900 900 0
03 A=A FAIH| 900 900 0
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1,000, 0002 *90% 900
LRI SEAE =4 900 150,900 150,000
2% Edis 2 &4 900 150,900 150,000
203 =4l 900 900 0
03 A=A 2= 900 900 0
SEAY 23 g2 =8
1,000,000 *90% 900
=OICIo 243tz 88 82 25} 395,333 384,077 11,256
T2 ezt 280,764 279,324 1,440
201 er23| 279,564 278,124 1,440
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12,0003 x602* 123 8,640
Dot 12 ME 1,820,000 x141%123] 21,840
2 5234l 1,584 1,584 0
2ed H=2 28
16.5%+8,00021 122 1,584
202 04| 1,200 1,200
01 2K 1,200 1,200
-2 FHMobl 20,0002 x1H+52+ 122 1,200
73 82 58,910 49,122 9,788
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S2 38 =RAl2c 1,000
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SciAl HHE el 7 100,000 *3H 300
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MRS 1,600 *650L 1,040
203 HR=AH] 4,050 4,050
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121,0003 x4H =123 5,808
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tHeless 50,000 x1&* 122 600
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Al 59,371
S3(HSH) 46,305,000 +18 46,305
- Al 140,000& x 1+ 123 1,680
- A2 el=E
10, 1623 x 1 +52A1 2t 122 6,342
- g2 x| 180,000 x 12 x 12 2,160
- =048l 120,000 x1&* 122 1,440
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e ss 50,0002 x1& » 122 600
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S3(HSH) 46,305,000 +18 46,305




2A:

WEESER

M HAPAZH|(0IcHMSA)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
- MG A 140,000 x1&* 122 1,680
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=&l 43,679 43,679 0
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201 2egh=3| 12,215 12,215 0
01 At22t2lt] 12,215 12,215 0
SfA2E 150,0003 %17 «95% 2,423
Jl2eR=AI A
8,0003x641 %17« 123 9,792
202 04| 28,224 28,224
01 2K 28,224 28,224
2 230 280,000 x14H « 12 »60% 28,224
203 gF=4| 3,240 3,240
M EASHLRFAH 3,240 3,240
FA2EHRFAH 300,0003 x 122 x90% 3,240




